Economics Problem Set 3 Answer Sheet

1. Monopoly Power: When one seller can substantially influence the price of a product. A monopoly power can affect the price by restricting supply, thus creating an artificial shortage. A classic example of monopoly is Debeers, who has controlled the diamond market for a substantial period of time. Debeers will buy new mines at above their cost to preserve its monopoly. It will only release a set number of diamonds every year – well below its capacity – in order to artificially drive up the price. The concept of monopoly important to me because in the long run, it is the most effective form of competition, and one of the only ways to sustain continued profits. Monopolized industries also generally have the support of a strong state apparatus. Because monopoly is one of the few effective ways to sustain profits over time, most Core industries (core-periphery is a relational concept with core industries being highly profitable industries, which extract surplus from less profitable peripheral industries) are highly monopolized or oligopolized. Because these industries are generally located in advanced industrial societies and have the support of strong states, this constitutes a hierarchical international division of labor where core industries extract surplus from the periphery. More recently the core-periphery relational concept has been expanded to take into account the relations within countries as well as internationally. 

B. Market Equilibrium: A market is said to be in equilibrium at the market price where the quantity supplied equals the quantity demanded – the point where supply and demand curves intersect. The price at this point is called the market clearing price or equilibrium price. At this price, everyone has been satisfied: buyers have bought all they want to buy, and sellers have sold all they want to sell. The actions of buyers and sellers naturally move a market toward this price. When there is surplus supply (a shortage of demand), the price falls, when there is a shortage of supply (excess demand) the price will rise. For example, if more milk is supplied then demanded, there is a surplus, and producers will have to lower the price of milk until it reaches the market clearing price, and supply equals demand.

C. Social Costs of Production: Social costs of production are the costs borne by all members of a society while private costs are borne by the producers and users of a product. A common example would be the pollution caused by gasoline. Gasoline, when burned in cars, causes pollution, a negative externality, which society must bear the cost of. This concept is important, because it is one of the main causes of market failure. Markets depend on prices to transmit information. However, prices at best, only take into account private costs. If they truly took into account the social costs, gasoline’s price would be much higher. Because prices do not take into account social costs, the invisible foot steps on society, and market failure often occurs. 

D. Prisoner’s Dilemma: The Prisoner’s Dilemma is a scenario, mathematically proved, where the self-interested actions of participants do not produce the best outcome for the participants. The best outcome can only be achieved through cooperation, however if the both act with regards only to their self-interest, this outcome will not be achieved. This is  incredibly important because it proves that there are irreducibly social goods, where the social good is not equal to what is good individually for participant A plus what is good individually for participant B. Further, it proves that if participants work only in their self-interest, there is no rational basis for cooperation. This constitutes a serious challenge to market systems which propose that the self-interested actions of individuals will produce the best of all possible worlds. 

E. Cost-Benefit Analysis: Cost-Benefit Analysis is a form of analysis that measures the costs vs. the benefits of any decisions. If the costs of decision a outweigh the benefits, then it is irrational to make decision a. For example, if the costs to the individual firm of converting to green energy and internalizing the externalized costs of pollution outweigh its benefits and threaten the profit rate, the firm will not internalize the costs. The situation here is similar to the prisoner’s dilemma. Every firm wants every other firm to be sustainable. However, the costs of sustainability are often prohibitive enough to a single firm, that no firm wants to individually convert to a sustainable production system, especially if it will raise prices and cause the firm to be less competitive. In this situation, the social good of preserving the atmosphere will not be achieved, because the costs to each individual firm are prohibitive, especially in the short term where the must satisfy investors every quarter.  This analysis is very important, because it is how firms make decisions to rationally maximize their profits. 

F. Mark-Up Pricing: In order for a firm to make profit, the price of a good must contain a mark-up above the costs of production. For example, jewelry usually contains a substantial mark-up – sometimes 50-60 percent – above what it cost the jeweler to obtain the jewelry. For example, if the jeweler buys the jewelry at 100.00 dollars, and then factors in the commission charges and fixed costs of rent, energy, etc. to keep his store open, he will then add an additional amount so he can make some money above his costs.

G. Non-price Competition: Non-price competition involves sales efforts, style changes, or other marketing strategies to increase the appeal of a product without affecting its price. One common example is that of the fashion industry, which will compete by changing style, etc. to attract more buyers, rather than lowering its price and threatening its rate of profit.

2. Adam Smith argued that through markets, the self interested actions of buyers and sellers coordinate societies productive decisions to reach an outcome that would be more socially beneficial than if people in society and government attempted to coordinate society by command altruistically. The basic assumptions of his theory rest on price theory. If the prices of goods, as they are sold to consumers, measure the ability of the goods to satisfy human needs, and  the costs of producing goods as measured by firms, take into account the social costs of acquiring and using the goods, then the profit made on each unit of a good (the price minus the cost per unit) will measure the social contribution made by producing each good, and hence the pursuit of self-interest (firms pursuing greater profits, and consumers trying to maximize their satisfactions) will result in a socially desirable allocation of our human and natural resources – the best of all possible worlds. 

3. Perfect Competition: 

Perfectly competitive markets rest on two main assumptions: 1) All goods produced by different firms are roughly equivalent, and 2) The buyers and sellers are so numerous that no individual can have a significant influence on the market price. In other words buyers and sellers are essentially price takers. Other assumptions perfect competition rests on are: perfect information, and Say’s law, that the value created by production (supply) generates an equal amount of total spending (demand), or that supply creates its own demand, and thus long term recessions caused by under consumption are impossible. In a perfectly competitive market, profit maximization occurs at the point where price equals marginal cost because if the price, and thus marginal revenue, is greater than the marginal cost, money can still be made by increasing production. If price is higher than the marginal cost, further production decreases profit.

4. a. Define Market Failure: Market failure occurs when the self-interested actions of buyers and sellers within the market results in outcomes that are generally undesirable. This often occurs because of the social costs of production and externalities, as well as monopoly power as well as a lack of effective demand for items necessary for the life of poor parts of the population. 

b. The first example will focus on negative externalities, such as habitat destruction which results in species loss. My hometown of Austin grew incredibly during the ‘90s. Traditionally, the heart of the town was the Barton Creek GreenBelt, which runs through downtown, and has many spring fed pools, the largest of which was turned into a swimming pool in the early 1900s, and is approximately 400 yards long, 50 wide, and 68 degrees all year long. When I was young, you couldn’t put your head underwater without seeing a vast array of fish, crawdads, and an endangered salamander that lived no where else in the world. There were even 4 foot long catfish. During the ‘90s, the real estate prices along the Greenbelt exploded – houses were selling for millions, and developers rushed to try to develop as much of the Greenbelt as possible. My father helped organize the Save our Springs campaign (SOS), and they won many battles, but eventually lost the war. Currently, Barton Springs has turned from a paradise filled with fish, to being close to fishless, filled with fecal chloroform, and generally polluted. One area that had a rock shelf that was a beautiful aquamarine color, turned brown. The rest of the greenbelt is often so toxic, especially after heavy rains that you have to be very careful swimming in it. Further, the salamander is threatened with extinction. Here it can be said that the market seriously failed to protect the environment which was the heart of Austin. People could make more money off of developing the land and putting condos up than preserving it for public use, and the land was polluted. In this case, environmental destruction was a cost that was allowed to be externalized, and the developers made millions at the expense of the people. A solution to this would have been to outlaw development on the Greenbelt, but in the end, the interests of accumulation outweighed the interests of the people, and Barton Springs was irreparably damaged. 

Another example of market failure is that of monopoly power. Competitive markets fail when one firm becomes powerful enough to effectively set the price. The firm is a price setter, instead of a price taker, and can substantially abuse this privilege. This is incredibly apparent when formerly public utilities, such as water, are privatized. In Bolivia, Bechtel could charge the people up to a quarter of their daily earnings for water, and made collecting rain water illegal. Because this so negatively effected the people of Bolivia, they had to correct the market failure through mass protest. The government came out in support of the accumulation process, but even so, the people were successful in driving Bechtel out of Bolivia. The people of Bolivia found an effective solution to this gross injustice: organizing a popular movement. 

A final example of market failure can be seen by the neglect of the needs of people who are unable to purchase goods and services the need for life. A great example of this is the crisis of the U.S. healthcare system. Every year, 100,000 people die because they cannot afford healthcare. 40 million are uninsured, and another 40 million are underinsured. Clearly, the market has not delivered the goods to those who need them. A solution to this could be a single payer public health system that all have access too. For a good proposal, the www.pnhp.org site has a great proposal written, and have been advocating it for over a decade. 

C. The needs of people, especially the poor, are often not reflected in market demands because often times they are not profitable. There is a lack of effective demand. If the people who need a good or service have no money to pay for it, like healthcare in the example above, they will not get it. Further, profitability determines all productive decisions, so if sleeping sickness medicine for Africans is not as profitable as using that same substance in women’s beauty care products, the medicine will be put in beauty products (BER 222). There is often a conflict between the needs of communities, and the needs of accumulating an ever increasing amount of profits by the ownership class.

D. For pollution, negative externalities and habitat destruction, a neoclassical economist will often advocate Pigovian Taxes (consumption taxes), and the importance of property rights. For example, consumption taxes would raise the price of gasoline, thereby encouraging alternatives to be developed. The problem with Pigovian Taxes, is that they are regressive, and hit the poor harder than anyone. If gas taxes were increased, then heating bills during the winter would increase, forcing ever more people to be without heating. Also, neoclassical economists argue for increased property rights to combat the tragedy of the commons. If land is owned, then its best (most profitable) interests will be looked after by the owner. An example could be deer leases in south Texas. Because the land is owned, it has been preserved as deer leases. However, in Austin, what we were fighting against was increased ownership over the Greenbelt. The owners would try to make as much money of the land as possible, and pollute the Greenbelt which is exactly what happened.  If you think about it, the argument seems like a thinly disguised excuse for the plundering of the commons. If Exxon owned the Alaskan Wildlife Refuge, the wildlife would not be protected. That is why we have refuges that are not for sale, because if they were for sale, they would be destroyed. 

For the example of Bechtel and monopoly, the World Bank Director Jim Wolfensohn argued that Bolivia needed, “a proper system of charging.” In La Paz, Bolivia, protest leader Oscar Olivera responded, “In Mr. Wolfensohn's view, requiring families who earn $100 per month to pay $20 for water may be 'a proper system of charging,' but the thousands of people who filled the streets and shut down Cochabamba last week apparently felt otherwise.” The neoclassical economist would argue that privatization was the right step, and that public utilities would be inefficient and waste resources. (http://www.thirdworldtraveler.com/South_America/Bolivia_WaterWarVictory.html)

For the final example of the health care crisis in America, most neoclassicals would argue for further privatization. They would argue that competition would drive prices down and create a more efficient system. If the poor could still not afford it, then perhaps they would be in favor of a negative income tax program like the earned income tax program. 

5. See below for graphs.  

A. I would think that the boycott would decrease demand and cause the demand curve to shift left. This would cause a surplus supply and the owner would have to lower prices to sell the remaining supply, and either sell less tobacco in the future at the old higher price, or continue with the lower price. Either way, he will lose money. 

B. I think that some people would remain customers, especially tobacco aficionados who like the Spa’s high quality tobacco, but that a significant portion of their customers, would buy cigarettes elsewhere as most bars downtown sell them.  

C.  The ban caused a drastic drop in demand, causing a shift to the left of the demand curve that was greater than the shift caused by the boycott.   

6. In Understanding Capitalism, there are nine determinants of the profit rate: Price of output (Pz), Work effort per hour of labor (e), Efficiency of labor (f), Amount of materials and machines used per hour of labor (m), Price of materials used and machines (Pm), Hourly wage (w), Price of capital goods used in production (Pc), Capital goods in use per hour of labor employed (g), and Capacity utilization rate or percentage of owned capital goods actually in use (u). These can be further subdivided into 4 categories Labor Determinants of the Profit Rate (e,f,w), Material Determinants (Pm, m), Capital Good Determinants (, Pc, g, u,), and Output price  (Pz). Labor, Material, and Capital Good determinants consist of the costs, while output price determines revenue. This equation is helpful for numerous reasons. By knowing the determinants of the profit rate, you can understand whether it will increase or decrease, and based on that, the possibilities for social change and wealth redistribution. As a general rule, as long as the profit rate is increasing and the pie is growing, there is greater possibility for change, while when the rate decreases and the pie starts to shrink, usually regressive social and redistributive policies occur, and decades of struggle can be erased in a single presidency (the Reagan Revolution). Also, when the profit rate decreases, expect the intensification of imperialism, and structural transformations to resolve the causal contradictions of crisis. Using the determinants of the profit rate to analyze the increase in corporate profits, during the ‘90s corporations were able to achieve breakthroughs in labor technology (i.e. outsourcing) and were able to greatly reduce labor costs. On top of that, because of increases in technology, they were able to achieve gains in productivity, none of which went to the working class. These two factors played a crucial role in the increase of corporate profits. 

7. The three major forms of capitalist competition are price competition, monopoly power, and breakthroughs. 

Price competition occurs when firms try to offering products equivalent to other firms, but at a lower price. There is an interesting tradeoff involved with price competition, a firm can try to lower its prices to attract more customers, but all things equal, a firms profits will be greater the greater its price. In order to make up for the loss of profit by selling at a lower price, a firm can make up for the difference in increased volume of sales, or reduce production costs. Many firms may be engaged in price competition, and the winner will be the one that offers the lowest prices. 

 Monopoly power occurs when a firm can exclude most of its potential competitors to gain enough market power to become a price setter rather than a price taker. A firm can rarely exclude all other firms, a pure monopoly, but can often collude with two or three other firms to establish an oligopoly. The monopolist then has the power to effect the determinants of the profit rate in many ways, but the main form is by being able to control the price of a good on the market. If it can substantially raise the price by restricting supply, it can greatly increase its profit rate.

Breakthroughs occur when a firm develops something completely new – a new market, method of production, product, technology, etc. In this case, it has a huge advantage while the other firms try to catch up. If the firm creates a new product, it may have no competitors and can gain temporary monopoly power. If a firm can achieve a breakthrough in the organization of production and can produce a product for substantially less, it can lower its prices to gain a competitive edge, and substantially increase its rate of profit. 

These forms of competition differ from perfect competition because these are competitive strategies for a firm to make more money, rather than a set of characteristics that describe a market. 

8. Production Possibilities Curve

A. The production possibilities curve represents possible productive options. In this graph, the society can either produce consumer goods or investment goods. Points A and B, being on the frontier of the curve, represent efficient points. Point C being below the frontier is inefficient and caused by less then full employment of resources. Point D is outside of the curve, and at present, is impossible to reach.

B. Between point A and B, there is a tradeoff. On point A, the society can produce more investment goods, but must produce less consumer goods. On point B, it can produce more consumer goods, but because its resources are employed in producing consumer goods, it has to produce less investment goods. This tradeoff is also known as opportunity cost. At point B, society can produce more consumer goods, but the investment goods it must forgo to produce those consumer goods is the opportunity cost of producing those consumer goods. On the PPC, there is the law of increasing opportunity costs. If society is producing all investment goods, if it moved to a point slightly to the right of the y axis, it can produce many consumer goods at the cost of only one investment goods. The further from the axis you travel, the greater amount of investment goods you must sacrifice. Your opportunity costs become greater and greater. This works the same for consumer goods. 

C. There is no opportunity cost moving from point C to B. You can produce more investment and consumer goods by moving to this point. 

D. No

E. Society could expand the curve to reach point D by increasing its technology level, productive capacity, or factors of production. The needs to increase factors of production has been one of the driving forces of imperialism. As well, the curve could contract due to unemployment, war, aids, or other maladies. 
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